
Katwa College 
Semester - IV (General) Internal Assessment - 2022  

Sub : Physics 
Paper : CC - 1D/GE-4  

 
Time : 30 min.                            Full Marks : 10 
 

Answer any five question :                               2 x 5 = 10 
­k ­L¡­e¡ 5¢V fË­nÀl Ešl c¡J: 

 
1.When is the amplitude of a forced vibration infinite? Is it possible in 
reality? 
flhn LÇf­el ¢hÙ¹¡l LMe Ap£j qu ? Cq¡ ¢L h¡Ù¹­h pñh ? 

 

2. Show that the resultant of two SHM's of the same period but of different 
amplitudes and phase, in perpendicular directions is an elliptic motion. 
fËj¡Z L­l¡ ­k flØfl pj­L¡­Z Ah¢ÙÛa HLC ­c¡meL¡m ¢L¿¹¥ ¢h¢iæ ¢hÙ¹¡l J cn¡k¤š² c¤¢V plm 

­c¡mN¢a­L k¤š² L¢l­m, Efhªš N¢a Evfæ qu ? 

 

 3. A note produces 4 beats per second with a tuning fork of frequency 512 
and 6 beats per second with a tuning fork of frequency 514. Find the 
frequency of the note. 
HL¢V p¤¤l 512 LÇf¡­ˆl HL¢V p¤¤lnm¡L¡l p¢qa fË¢a ­p­L­™ 4 ¢V ülLÇf pª¢ø L­l Hhw 514 

LÇf¡­ˆl p¤¤lnm¡L¡­ll p¢qa 6 ¢V ülL­Çfl pª¢ø L­l z p¤¤l¢Vl LÇf¡ˆ ¢eZÑu L­l¡z 

 

 4. What are the fundamental conditions for observable steady interference 
pattern?  
ÙÛ¡u£ cnÑe­k¡NÉ hÉ¢aQ¡­ll ­j±¢mL naÑ…¢m ­m­M¡z  

 

5. What do you mean by interference of light ? 
B­m¡­Ll hÉ¢aQ¡l L¡­L h­m ? 

 

6. Equation y =15sin(660πt-0.02πx)cm represents a progressive wave.   

Calculate the velocity of the wave. 

HL¢V Qmal‰ pj£LlZ y =15sin(660πt-0.02πx) cm q­m al­‰l ­hN ¢eZÑu L­l¡z 

 
7. What is zone plate ? Explain the construction of a zone plate in brief. 
j™m gmL L£? Hl NWe pw­r­f hZÑe¡ L­l¡z 

8. Compare the zone plate with a convex lens.  
j™m gmL J A¢ip¡l£ ­m­¾pl j­dÉ a¥me¡ L­l¡z  



  
 

 

 

   
  

 

 

 
 

  

 

 

 
 

        

  
 
 
 
 
 
 


